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QUESTION 1

In the navigation pane, what are the steps to create a test mailbox on the Communication manager messaging 6.0
Application? 

A. Select messaging administration, then Subscribe Management, and then click Add or edit. 

B. Select messaging administration, the click new. 

C. Select messaging administration, Select messaging administration, and then click add. 

D. Select Forms control, and then at the command line run then add subscribe command. 

Correct Answer: A 

 

QUESTION 2

Which communication manager 6.0 command is used to add a new survivable 

A. add surviveable-processor 

B. add survivable-processor ess  

C. add survivable-processor core 

D. add survivable-processor  

Correct Answer: D 

 

QUESTION 3

A user at extension 1111 complaints that when dialing extension 2222, the call is the call is unexpectedly answered by a
person at extension 3333. All other calls made are connected as expected. There is not display on the phone. While at
the SAT, the technician has the user repeat the call to extension 2222 

Which command identifies the reason this phone call is behaving in the expected way? 

A. List trace station 1111 

B. List trace station 3333 

C. Status station 1111 

D. Display station 3333 

Correct Answer: A 

 

QUESTION 4
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Which two statements regarding shuffling and hairpining are true? (Choose two) 

A. Hairpining does not use media processor resources. 

B. The audio connection type field on the communication manager status station formation can be used to determine
whether a call is shuffled. 

C. A call between a DCP endpoint and H.323 end point can be shuffled. 

D. Shuffling release media processor resources. 

Correct Answer: BD 

 

QUESTION 5

Which three elements are needed to CLAN IP interface? (Choose three) 

A. Network region 

B. Gateway node name 

C. Node name 

D. Duplicate node name 

E. link 

Correct Answer: ACE 
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